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A. If a field matches, the agreement weight is used. 
B. Partial weight is assigned for non-exact or "fuzzy" matches. 
C. If a field doesn't match, a default value of zero is used. 
D. All of above are true. 

Answer: C 

QUESTION: 38 

Which of the following examples represents "inconsistent standards"?? 


A. Data Source 1: 99999, Data Source 2: 41102 
B. Data Source 1: CA, Data Source 2: Calif 
C. Data Source 1: <all blanks>, Data Source 2: 415-392-6000 
D. Data Source 1: Robert Jones TTE, Data Source 2: FBO Robert Jones 

Answer: B 

QUESTION: 39 

What will a QualityStage survive job do? 


A. Transform the input to an output that meets business requirements. 
B. Gain 100% visibility of a single domain field. 
C. Cross populate records with best available data from various data sources. 
D. Build relationship between fields of the same record. 

Answer: C 

QUESTION: 40 

What are tokens in data investigation?
 

A. Patterns 
B. Reference numbers 
C. Mask values for the data. 
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D. Words or Individual units of data. 

Answer: D 

QUESTION: 41 
Which of the following are valid character masks used in data investigation? 

A. C, T, X 
B. T, X, Z 
C. C, X, Z 
D. All of the above 

Answer: A 
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